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complement numbers

, :"'11) How many bits are there in‘eich of the TAG, SET, and WORD fields?

'53example

: ;'::Wlth a neat block diagram, explain in detaif abom micro proorammed contiol unit and

:1.1) How manrybits are there i m rnarn memory address? Bt
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B. Tech III Year I Semester Exammations, November/December 2016
COMPUTER ORGANIZATION AND OPERATING SYSTEMS

(Common to ECE, ETM)
Max. Marks: 75

Part A is compulsory which carries 25 marks. Answer all questions in Part A. Part B
consists of 5 Units. Answer any one full question from each unit. Each question carries

10 marks and may have a, b, ¢ as sub questions.

NS i PART - Al:i 00
M 5 Cexev N T teant H T tkeat M M H (25 Mﬁl‘ks)

A digital computer has a common bus system for 16 registers of 32 bits each. The bus
is constructed with multiplexers. How many selection inputs are there in cach

multplexer? 2]
:..Give one exaple for Arithmetzic Micro Operations Logic Mlerobperations a{nd §h1ft
““Micro Operations. , 3]

What is the difference between hardwired control and a micro programmed control?

(2]

Differentiate between SRAM and DRAM. [3]

.. Why bus arbitration is requirgd?. . 2]
+i..In a computer system, why &' PCLbus is used" HRERIY i3]

What is the purpose of paging the page tables? (2]

Why do some operating systems store the operating system in firmware, while others

store it on disk? [3]

List the operations on a file. [2]

. :M-GIVC a note-on. indexed allooation of disk space RO v, 13]
PART - B
(50 Marks)

i S R [M

OR
Design a 4 bit combinational circuit decrement using four full adder circuits.

Explain with an example Booth’s algorithm for multiplication of signed 2’s
[5+3]

explain its operations. [10]

OR
A block set associative cache consists of a total of 64 blocks divided into 4 blocks sets.

Give a brief note on RAID. [4+6]
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6,§t)g :g.Usmg blocfc dmgram expiamﬂle working ofDMA Controller...
b) Whena device interrupt occurs, how does the processor determine which devnce 1ssued
| the mﬂemapt? Explain. : [5+5]
| OR
. Wikaisis the basic-awumtap G&mmtemuphmmeddmamferovexmferm
pmgrammad t:mu'ol thhms %mmmmpt? EXpiam mtermpt—mlttaged VOin deta}l [1] . i+

m-traditional personal computers? chnbe some
g ‘witich it is advantageous to use network computers.
possnble to have a deadlock involving only a single process? Justify your answer.
[5+5]
ti4 OR 111 ’
e 9.4) “'Describe thé' m eneral niéthods for passing pﬁrameters to the operatmg systcn‘x
b) What is the purpose of the command interpreter? Why is it usually separate from the
* kernel? [5+5]

10.  Why do some systems keep tack of the type of a file, while others leave it to the user
¢ i ' and other simply do not xmplernent multiple fife ;ypes" thch system is bette;" EXplam

in detail [10]
, OR
/1/ ) In What situations wanlsh use memory as a RAM disk be more useful than using it as a
disk cache?
b) Give a brxefnot&o&f:ea SPRGE. AN
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